





Module 6.1—Answer to Exercise 2











1.	Circles the 2 quality criteria for a test:





			simplicity					objectivity





			efficacy					specificity





			balance					speed


��


			reliability					validity





			fairness					easiness








2.	The following is a series of training objectives and their corresponding test questions.  [Not all objectives contain the 3 components, but for the sake of this exercise, compare "like with like"; i.e., if only the performance is given, compare the performance in the objective and test question to determine whether they are identical.]  State whether the questions meet the quality criteria, and if not, in what way are they lacking.





(a)	Objective:  To solve a simple equation with one unknown.





	Question:  To solve the following equations:





			1)  3x - 25 = 16





			2)  2y + 4 = 4y - 18





			3)  z = 5z + 20


�


				YES / NO, REASON:  











(b)	Objective:  Given a faulty Teka switch, a circuit diagram of it, a pair of headphones and a set of tools, locate the fault immediately.





	Question:  The student is given a faulty Teka switch.  He is given the circuit diagram, the necessary tools and the headphones, and is asked to locate the fault as quickly as possible.  The instructor will assess his skill.


�


				YES / NO, REASON:  reliability; and "as quickly as possible"


�


(c)	Objective:  To calculate the pressure at a given depth in a recipient filled with a liquid of known density.





	Question:  Equal quantities of water (density 1.0) and oil (density 0.8) have been poured into a U-tube.  If the column of oil measures 50cm, what would be the difference in level h?


�


				YES / NO, REASON:  different behaviours; calculations








(d)	Objective:  To listen to 10 figures pronounced in English at the rate of 1 figure per second, and to write those figures correctly.





	Question:  You will hear 10 figures spoken in English in 10 seconds.  Write those figures accurately.


�


				YES / NO, REASON:  conditions slightly changed











(e)	Objective:  Given a series of 10 words, each containing 5 letters on average, spell them correctly in not more than 30 seconds using the international alphabet.





	Question:  Read the following sentence carefully and prepare to spell it using the international alphabet when your turn comes.  The spelling should be completed in not more than 30 seconds:  "Your letter 5 March arrived Zürich signed J. K. Wylmot".


�


				YES / NO, REASON:  conditions changed











(f)	Objective:  Using a set of tools, properly adjust a Pentaconta multiselector frame in accordance with CGCT standards.





	Question:  During their complementary on-the-job training, a group of 4 students who are equipped with the necessary tools, properly adjusts a Pentaconta multiselector frame in accordance with the standards and under supervision of an instructor.


�


				YES / NO, REASON:  but just; reliability a bit shaky as will not know what each of the 4 trainees can do.











(g)	Objective:  Given the operating description a numerical subset, propose an arrangement representing the operation using only NAND circuits.





	Question:  A numerical subset obeys the following rules:  when the input variables "x" and "y" are simultaneously equal to "1", the output variable "z" becomes "1".  When the input variables "u" and "v" simul-taneously achieve a value of "0", "z" becomes "0".  Propose an arrangement which meets these conditions, using only NAND circuits.


�


				YES / NO, REASON:











(h)	Objective:  Using a handbook, the tools and the measuring equipment necessary, make all the adjustments to a SPE teleprinter, within the tolerance limits indicated by Sagem.





	Question:  On test bench No. 6 you have an improperly adjusted SPE teleprinter, the handbook, measuring equipment and necessary tools.  Make all the adjustments indicated by Sagem within the tolerance limits specified.


�


				YES / NO, REASON:  not really different enough to change it








(i)	Objective:  Given a theoretical diagram of an electronic subset made up of transistors and passive elements, propose the simplest possible printed circuit assembly diagram corresponding to the theoretical diagram.





	Question:  Indicate briefly which factors have to be taken into account in setting up the following circuit arrangement (consisting of transistors and passive circuits), knowing that it must operate up to a frequency of 55 MHz.  (Diagram shown)


�


				YES / NO, REASON:  different behaviours
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